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Standards is carried out through ISO
interested in a subject for which a techni mmittee has been authorized has the
right to be represented on that committee. ational organizations, governmental
and non-governmental, in liaison with ISO, al e part in the work.
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Draft International Standards adopted by the tec@'a{ cpmmittees are circulated to
the member bodies for approval before their acceptanc‘.{ss International Standards by
the ISO Council.

International Standard ISO 7464 was developed by Teéhnical mittee ISO/TC 127,
Earth-moving machinery, and was circulated to the member in December 1981.
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